


sine =t &9 5,



AR 201

sine =t &9 5,
0<z<2TDE =



AR 201

sine =t &9 5,
0<zz<2rnDEE -1<t<L1..-0QThHs,



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x = 1 —2sin’xz = 1 — 2t2,



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

’y:



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t*)t



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t")t+6(1—t%



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t)t+6(1—t*) + Tt



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t)t+6(1 —t*) + 7t
= 4t —6t* + 9t +6 & TZ



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t)t+6(1 —t*) + 7t
= 4t —6t* + 9t +6 & TZ



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t)t+6(1 —t*) + 7t
= 4t —6t° + 9t +6 & TZE
y = —12t° — 12t + 9



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t)t+6(1 —t*) + 7t
—4t> —6t° + 9t +6 & TE
y = —12t° — 12t + 9

-3



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t)t+6(1 —t*) + 7t
—4t> — 6t + 9t + 6 & TE
y = —12t° — 12t + 9

—3 (41 + 4t — 3)



BRE 201

sine =t &9 %,
0 zz<2nDEE —-1<t<L1..-OQTH%,
cos2x =1—2sin’z=1—2t2, cos2z=1—tH5

y=2(1—-2t)t+6(1 —t*) + 7t
—4t> — 6t + 9t + 6 & TE

y = —12t° — 12t + 9

—3 (41 + 4t — 3)

—3 (2t +3)(2t — 1)






AR 201

?

O OFEHETERRIL

a



BRZ 201
O OEHETERRIL

t

—1

1

/

+
/

2

0
1

2




BRE 201

O OEFETERERIZ
1
t | —1 > 1
14 + 0 _
5| |\ ] s




fRE 201
@ DEIE THERKIE
t | —1 % 1
, o [ =
5| |\ ] s
$RBDT




BRE 201

O OEFETERERIZ
1
t | —1 > 1
14 +0_
5| |\ ] s
EHRBDT



BRE 201

O DEFE TIEFERIE
1
t —1 > 1
/ + 0 _
5| |\ ] s
SRDBDT
SK{E t = % SHhs @ =T, %71‘0))_’_3



BRE 201

O DEE THERERIE
1
t | —1 > 1
14 + 0 _
5| |\ ] s
EIRBDT ) . .
ShfE ¢t = = 7 -T2 -0
BRANE t 5 TRHLE x 5 671-0)2:“3‘ 5



BRE 201

O DEE THERERIE
1
t | —1 > 1
14 + 0 _
5| |\ ] s
EIRBDT ) . .
ShfE ¢t = = 7 -T2 -0
BRANE t 5 TRHLE x 5 671-0)2:“3‘ 5

&= /IME



BRE 201

O DEE THERERIE
1
t | —1 > 1
14 + 0 _
5| |\ ] s
EIRBDT ) . .
ShfE ¢t = = 7 -T2 -0
BRANE t 5 TRHLE x 5 671-0)2:“3‘ 5



BRE 201

O DEE THERERIE
1
t | —1 > 1
/ + 0 _
5| |\ ] s
EIRBDT ) . .
ShfE ¢t = = 7 -T2 =0
BRANE t 5 TRHLE x 5 671-0)2:“3‘ 5

SME t= —1 THbE z— %71' D =



BRE 201

O OEFETERERIZ
1
t | —1 > 1
/ + 0 _
5| |\ ] s
EIRBDT ) . .
Skl t=— T4 -7 2 L
BRANE t 5 TRHLE x 5 671-0)2:“3‘ 5

SME t= —1 THbE z— %71' DEE _5



